

SOME IDENTITIES FOR DEGENERATE FROBENIUS-EULER NUMBERS ARISING FROM NONLINEAR DIFFERENTIAL EQUATIONS

Taekyun Kim¹

*Department of Mathematics
Kwangwoon University
Seoul 139-701
Republic of Korea
e-mail: tkkim@kw.ac.kr*

Dae San Kim

*Department of Mathematics
Sogang University
Seoul 121-742
Republic of Korea
e-mail: dskim@sogang.ac.kr*

Hyuck-In Kwon

*Department of Mathematics
Kwangwoon University, Seoul 139-701, Republic of Korea
e-mail: sura@kw.ac.kr*

Jong-Jin Seo

*Department of Applied Mathematics
Pukyong National University
Pusan
Republic of Korea
e-mail: seo2011@pknu.ac.kr*

Abstract. In this paper, we derive nonlinear differential equations from the generating function of degenerate Frobenius-Euler numbers which originate from Carlitz degenerate Euler numbers. In addition, we give some explicit identities for degenerate Frobenius-Euler numbers arising from our nonlinear differential equations.

Key words and phrases: degenerate Frobenius-Euler numbers, nonlinear differential equations.

2010 Mathematics Subject Classification: 05A19, 11B37, 11B83, 34A34.

¹Corresponding author

1. Introduction

For $u (\neq 1) \in \mathbb{C}$, the Frobenius-Euler numbers are defined by the generating function

$$(1.1) \quad \frac{1-u}{e^t-u} = \sum_{n=0}^{\infty} H_n(u) \frac{t^n}{n!}, \quad (\text{see [2], [12], [13]}).$$

In particular, $u = -1$, we have

$$(1.2) \quad \sum_{n=0}^{\infty} H_n(-1) \frac{t^n}{n!} = \frac{2}{e^t+1} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!},$$

where E_n are the Euler numbers (see [6], [9]).

Thus, by (1.2), we get $H_n(-1) = E_n (n \geq 0)$. In [3], L. Carlitz considered the degenerate Euler numbers which are given by the generating function

$$(1.3) \quad \frac{2}{(1+\lambda t)^{\frac{1}{\lambda}}+1} = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda} \frac{t^n}{n!}.$$

Note that

$$\lim_{\lambda \rightarrow 0} \mathcal{E}_{n,\lambda} = E_n \quad (n \geq 0).$$

Recently, Kim and Kim derived nonlinear differential equations from the generating function of degenerate Euler numbers and gave some new and explicit identities for Carlitz degenerate Euler numbers arising from those nonlinear differential equations (see [9]).

In [6], the nonlinear Changhee differential equations, which are related to Euler and degenerate Euler numbers, were introduced by Kim and Kim. They also gave some new explicit relationship between Changhee and Euler numbers arising from those differential equations.

Now, we consider the degenerate Frobenius-Euler numbers which originates from Carlitz degenerate Euler numbers and are given by the generating function:

$$(1.4) \quad \frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}}-u} = \sum_{n=0}^{\infty} h_{n,\lambda}(u) \frac{t^n}{n!}, \quad (u (\neq 1) \in \mathbb{C}), \quad (\text{see [7]}).$$

In the special case $u = -1$, we note that

$$h_{n,\lambda}(-1) = \mathcal{E}_{n,\lambda}, \quad (n \geq 0).$$

It is not difficult to show that

$$\lim_{\lambda \rightarrow 0} h_{n,\lambda}(u) = H_n(u), \quad (n \geq 0).$$

Recently, several authors have studied degenerate Euler numbers and degenerate Frobenius-Euler numbers (see [1]–[14]).

In this paper, we derive nonlinear differential equations from the generating function of degenerate Frobenius-Euler numbers. In addition, we give some explicit identities for degenerate Frobenius-Euler numbers arising from our nonlinear differential equations.

2. Some identities for degenerate Frobenius-Euler numbers arising from nonlinear differential equations

Let

$$(2.1) \quad F = F(t; \lambda, u) = \frac{1}{(1 + \lambda t)^{\frac{1}{\lambda}} - u}, \quad (u \neq 1).$$

Then, by (2.1), we get

$$(2.2) \quad F^{(1)} = \frac{dF}{dt}(t; \lambda, u) = \frac{(-1)}{1 + \lambda t} (F + uF^2).$$

Thus, by (2.2), we have

$$(2.3) \quad uF^2 = -F - (1 + \lambda t) F^{(1)}.$$

Taking the derivative of (2.3) with respect to t , we get

$$(2.4) \quad 2!u^2 F^3 = (-1)^2 \{2F + (3 + \lambda)(1 + \lambda t) F^{(1)} + (1 + \lambda t)^2 F^{(2)}\},$$

and

$$(2.5) \quad \begin{aligned} 3!u^3 F^4 &= (-1)^3 \{6F + (\lambda^2 + 6\lambda + 11)(1 + \lambda t) F^{(1)} \\ &\quad + (3\lambda + 6)(1 + \lambda t)^2 F^{(2)} + (1 + \lambda t)^3 F^{(3)}\}. \end{aligned}$$

So, we are led to put

$$(2.6) \quad N!u^N F^{N+1} = (-1)^N \sum_{i=0}^N a_i(N, \lambda) (1 + \lambda t)^i F^{(i)}, \quad (N = 0, 1, 2, \dots),$$

where $F^{(i)} = \left(\frac{d}{dt}\right)^i F(t; \lambda, u)$.

Let us take the derivative of (2.6) with respect to t . Then we have

$$(2.7) \quad \begin{aligned} (N + 1)!u^N F^N F^{(1)} &= (-1)^N \sum_{i=0}^N a_i(N, \lambda) i (1 + \lambda t)^{i-1} \lambda F^{(i)} \\ &\quad + (-1)^N \sum_{i=0}^N a_i(N, \lambda) (1 + \lambda t)^i F^{(i+1)}. \end{aligned}$$

By (2.2) and (2.7), we easily get

$$(2.8) \quad \begin{aligned} &(N + 1)!u^N F^N (F + uF^2) \\ &= (-1)^{N+1} \left\{ \sum_{i=0}^N i \lambda a_i(N, \lambda) (1 + \lambda t)^i F^{(i)} + \sum_{i=0}^N a_i(N, \lambda) (1 + \lambda t)^{i+1} F^{(i+1)} \right\}. \end{aligned}$$

From (2.6) and (2.8), we can derive the following equation:

$$\begin{aligned}
 & (N + 1)!u^{N+1}F^{N+2} \\
 &= - (N + 1) N!u^N F^{N+1} \\
 (2.9) \quad &+ (-1)^{N+1} \left\{ \sum_{i=0}^N i\lambda a_i(N, \lambda) (1 + \lambda t)^i F^{(i)} + \sum_{i=0}^N a_i(N, \lambda) (1 + \lambda t)^{i+1} F^{(i+1)} \right\} \\
 &= (-1)^{N+1} \left\{ \sum_{i=0}^N (N + 1 + i\lambda) a_i(N, \lambda) (1 + \lambda t)^i F^{(i)} \right. \\
 &\quad \left. + \sum_{i=1}^{N+1} a_{i-1}(N, \lambda) (1 + \lambda t)^i F^{(i)} \right\}.
 \end{aligned}$$

On the other hand, by replacing N by $N + 1$ in (2.6), we get

$$(2.10) \quad (N + 1)!u^{N+1}F^{N+2} = (-1)^{N+1} \sum_{i=0}^{N+1} a_i(N + 1, \lambda) (1 + \lambda t)^i F^{(i)}.$$

By comparing the coefficients on both sides of (2.9) and (2.10), we have

$$(2.11) \quad a_0(N + 1, \lambda) = (N + 1) a_0(N, \lambda), \quad a_{N+1}(N + 1, \lambda) = a_N(N, \lambda),$$

and

$$(2.12) \quad a_i(N + 1, \lambda) = a_{i-1}(N, \lambda) + (N + 1 + i\lambda) a_i(N, \lambda), \quad (1 \leq i \leq N).$$

From $F = a_0(0, \lambda) F$ in (2.6), we have

$$(2.13) \quad a_0(0, \lambda) = 1.$$

By (2.3) and (2.6), we easily get

$$(2.14) \quad -F - (1 + \lambda t) F^{(1)} = uF^2 = -a_0(1, \lambda) F - a_1(1, \lambda) (1 + \lambda t) F^{(1)}.$$

Comparing the coefficients on both sides of (2.14), we obtain

$$(2.15) \quad a_0(1, \lambda) = 1, \quad a_1(1, \lambda) = 1.$$

From (2.11), we easily note that

$$(2.16) \quad \begin{aligned}
 & a_0(N + 1, \lambda) \\
 &= (N + 1) a_0(N, \lambda) = (N + 1) N a_0(N - 1, \lambda) = \cdots = (N + 1)!,
 \end{aligned}$$

and

$$(2.17) \quad \begin{aligned}
 & a_{N+1}(N + 1, \lambda) \\
 &= a_N(N, \lambda) = a_{N-1}(N - 1, \lambda) = \cdots = a_1(1, \lambda) = a_0(0, \lambda) = 1.
 \end{aligned}$$

For $i = 1, 2, 3$ in (2.12), we have

$$(2.18) \quad a_1(N+1, \lambda) = \sum_{k=0}^N (N+1+\lambda)_k a_0(N-k, \lambda),$$

$$(2.19) \quad a_2(N+1, \lambda) = \sum_{k=0}^{N-1} (N+1+2\lambda)_k a_1(N-k, \lambda),$$

and

$$(2.20) \quad a_3(N+1, \lambda) = \sum_{k=0}^{N-2} (N+1+3\lambda)_k a_2(N-k, \lambda),$$

where

$$(x)_n = x(x-1)\cdots(x-n+1), \quad (n \geq 1), \quad (x)_0 = 1.$$

Continuing this process, we note that

$$(2.21) \quad a_i(N+1, \lambda) = \sum_{k=0}^{N-i+1} (N+1+i\lambda)_k a_{i-1}(N-k, \lambda).$$

Now, we give explicit expressions for $a_i(N+1)$.

From (2.18), we note that

$$(2.22) \quad \begin{aligned} a_1(N+1, \lambda) &= \sum_{k_1=0}^N (N+1+\lambda)_{k_1} a_0(N-k_1, \lambda) \\ &= \sum_{k_1=0}^N (N+1+\lambda)_{k_1} (N-k_1)!, \end{aligned}$$

$$(2.23) \quad \begin{aligned} a_2(N+1, \lambda) &= \sum_{k_2=0}^{N-1} (N+1+2\lambda)_{k_2} a_1(N-k_2, \lambda) \\ &= \sum_{k_2=0}^{N-1} \sum_{k_1=0}^{N-1-k_2} (N+1+2\lambda)_{k_2} (N-k_2+\lambda)_{k_1} (N-k_2-k_1-1)!, \end{aligned}$$

and

$$(2.24) \quad \begin{aligned} a_3(N+1, \lambda) &= \sum_{k_3=0}^{N-2} \sum_{k_2=0}^{N-2-k_3} \sum_{k_1=0}^{N-k_3-k_2-2} (N+1+3\lambda)_{k_3} \\ &\quad \times (N-k_3+2\lambda)_{k_2} (N-k_3-k_2-1+\lambda)_{k_1} \\ &\quad \times (N-k_3-k_2-k_1-2)!. \end{aligned}$$

So we can deduce that, for $1 \leq i \leq N$,

$$\begin{aligned}
 & a_i(N+1, \lambda) \\
 (2.25) \quad &= \sum_{k_i=0}^{N-i+1} \sum_{k_{i-1}=0}^{N-i+1-k_i} \cdots \sum_{k_1=0}^{N-i+1-k_i-\cdots-k_2} \prod_{j=1}^i \binom{N+j+1-i-\sum_{l=j+1}^i k_l + j\lambda}{k_j} \\
 & \times \left(N+1-i-\sum_{l=1}^i k_l\right)!.
 \end{aligned}$$

Therefore, we obtain the following theorem.

Theorem 1. *The nonlinear differential equations*

$$N!u^N F^{N+1} = (-1)^N \sum_{i=0}^N a_i(N, \lambda) (1 + \lambda t)^i F^{(i)}, \quad (N = 1, 2, \dots),$$

have a solution

$$F = F(t; \lambda, u) = \frac{1}{(1 + \lambda t)^{\frac{1}{\lambda}} - u},$$

where

$$\begin{aligned}
 a_0(N, \lambda) &= N!, \\
 a_i(N, \lambda) &= \sum_{k_i=0}^{N-i} \sum_{k_{i-1}=0}^{N-i-k_i} \cdots \sum_{k_1=0}^{N-i-k_i-\cdots-k_2} \binom{N-i-\sum_{l=1}^i k_l}{k_l}! \\
 & \times \prod_{j=1}^i \binom{N+j-i-\sum_{l=j+1}^i k_l + j\lambda}{k_j} .
 \end{aligned}$$

We recall that the degenerate Frobenius-Euler numbers, $h_{n,\lambda}(u)$, ($n \geq 0$), are defined by the generating function

$$\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} = \sum_{n=0}^{\infty} h_{n,\lambda}(u) \frac{t^n}{n!}.$$

Also, the degenerate Frobenius-Euler numbers, $h_{n,\lambda}^{(r)}(u)$, of order r are given by the generating function

$$\left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u}\right)^r = \sum_{n=0}^{\infty} h_{n,\lambda}^{(r)}(u) \frac{t^n}{n!}, \quad (u \in \mathbb{C}, u \neq 1).$$

From Theorem 1, we have

$$\begin{aligned}
 & N!u^N (1-u)^{N+1} F^{N+1} \\
 (2.26) \quad &= (-1)^N (1-u)^N \sum_{i=0}^N a_i(N, \lambda) (1 + \lambda t)^i \left(\frac{d}{dt}\right)^i \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u}\right).
 \end{aligned}$$

The LHS of (2.26) is given by

$$(2.27) \quad N!u^N \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right)^{N+1} = N!u^N \sum_{n=0}^{\infty} h_{n,\lambda}^{(N+1)}(u) \frac{t^n}{n!}.$$

It is easy to show that

$$(2.28) \quad \begin{aligned} & (-1)^N (1-u)^N \sum_{i=0}^N a_i(N, \lambda) (1+\lambda t)^i \left(\frac{d}{dt} \right)^i \left(\frac{1-u}{(1+\lambda t)^{\frac{1}{\lambda}} - u} \right) \\ &= (-1)^N (1-u)^N \sum_{i=0}^N a_i(N, \lambda) \sum_{k=0}^{\infty} (i)_k \lambda^k \frac{t^k}{k!} \sum_{l=0}^{\infty} h_{l+i,\lambda}(u) \frac{t^l}{l!} \\ &= (-1)^N (1-u)^N \sum_{i=0}^N a_i(N, \lambda) \sum_{n=0}^{\infty} \sum_{k=0}^n (i)_k \lambda^k h_{n-k+i,\lambda}(u) \binom{n}{k} \frac{t^n}{n!} \\ &= (-1)^N (1-u)^N \sum_{n=0}^{\infty} \sum_{i=0}^N \sum_{k=0}^n \binom{n}{k} (i)_k \lambda^k a_i(N, \lambda) h_{n-k+i,\lambda}(u) \frac{t^n}{n!}. \end{aligned}$$

By (2.26), (2.27) and (2.28), we get

$$(2.29) \quad \begin{aligned} & N!u^N h_{n,\lambda}^{(N+1)}(u) \\ &= (-1)^N (1-u)^N \sum_{i=0}^N \sum_{k=0}^n \binom{n}{k} (i)_k \lambda^k a_i(N, \lambda) h_{n-k+i,\lambda}(u). \end{aligned}$$

Therefore, by (2.29), we obtain the following theorem.

Theorem 2. For $n, N = 0, 1, 2, \dots$, we have

$$\begin{aligned} & N!u^N h_{n,\lambda}^{(N+1)}(u) \\ &= (-1)^N (1-u)^N \sum_{i=0}^N \sum_{k=0}^n \binom{n}{k} (i)_k \lambda^k a_i(N, \lambda) h_{n-k+i,\lambda}(u), \end{aligned}$$

where

$$\begin{aligned} a_0(N, \lambda) &= N! \\ a_i(N, \lambda) &= \sum_{k_i=0}^{N-i} \sum_{k_{i-1}=0}^{N-i-k_i} \cdots \sum_{k_1=0}^{N-i-k_i-\cdots-k_2} \binom{N-i-\sum_{l=1}^i k_l}{k_j} \\ &\quad \times \left(\prod_{j=1}^i \binom{N+j-i-\sum_{l=j+1}^i k_l + j\lambda}{k_j} \right). \end{aligned}$$

References

- [1] CAN, M., CENKCI, M., KURT, V., SIMSEK, Y., *Twisted Dedekind type sums associated with Barnes' type multiple Frobenius-Euler l -functions*, Adv. Stud. Contemp. Math. (Kyungshang), 18 (2) (2009), 135–160.
- [2] CARLITZ, L., *A note on q -Eulerian numbers*, J. Combin. Theory, Ser. A, 25 (1) (1978), 90–94.
- [3] CARLITZ, L., *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., 15 (1979), 51–88.
- [4] KIM, D.S., KIM, T., LEE, H.Y., *p -adic q -integral on \mathbb{Z}_p associated with Frobenius-type Eulerian polynomials and umbral calculus*, Adv. Stud. Contemp. Math. (Kyungshang), 23 (2) (2013), 243–251.
- [5] KIM, T., CHOI, J., *A note on the product of Frobenius-Euler polynomials arising from the p -adic integral on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. (Kyungshang), 22 (2) (2012), 215–223.
- [6] KIM, T., KIM, D.S., *A note on nonlinear Changhee differential equations*, Russ. J. Math. Phys., 23 (1) (2016), 88–92.
- [7] KIM, T., KWON, H.-I., SEO, J.-J., *On the degenerate Frobenius-Euler polynomials*, Global J. Pured Appl. Math. (GJPAM), 11 (4) (2014), 2077–2084.
- [8] KIM, T., MANSOUR, T., *Umbral calculus associated with Frobenius-type Eulerian polynomials*, Russ. J. Math. Phys., 21 (4) (2014), 484–493.
- [9] KIM, T., MANSOUR, T., *Umbral calculus associated with Frobenius-Eulerian polynomials*, J. Nonlinear Sci., 9 (2016), 2086–2098.
- [10] RYOO, C.S., *A note on the Frobenius-Euler polynomials*, Proc. Jangjeon Math. Soc., 14 (4) (2011), 495–501.
- [11] SEO, J.-J., KIM, T., *Multivariate fermionic p -adic integral on \mathbb{Z}_p associated with Frobenius-Euler polynomials and numbers*, Global J. Pured Appl. Math. (GJPAM), 12 (1) (2015), 1317–1323.
- [12] SHIRATANI, K., *On Euler numbers*, Mem. Fac. Sci. Kyushu Univ., Ser. A, 27 (1973), 1–5.
- [13] SHIRATANI, K., YAMAMOTO, S., *On a p -adic interpolation function for the Euler numbers and its derivatives*, Mem. Fac. Sci. Kyushu Univ., Ser. A, 39 (1) (1985), 113–125.
- [14] SIMSEK, Y., KIM, T., PARK, D.W., RO, Y.S., JANG, L.C., RIM, S.H., *An explicit formula for the multiple Frobenius-Euler numbers and polynomials*, JP J. Algebra Number Theory Appl., 4 (3) (2004), 519–529.

Accepted: 03.05.2016